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RT, BRI EBDNS, F—o5amH K.

iR te vl

* rnorm(10, 100, sqrt(400) )
morm(<&ULEWVWT—F#>  <BFHiE> | sqri( <BNHEUED>))

BT 100, 8981 4000D&E
m ST —ADERK (17X :10)

> rnorm{10, 100, sqrt{400))
[1] 92.38700 91.20082 108.99707 107.13639 77.12594
[6] 119.15499 84,30894 97,.81648 119.54392 100. 52586

B ST —FZ=%ERk L,
T, INEUTEUEAA (14X :10)

g%l#trz%cr)r;cgr)m(lo, 100,

|~

> round{ rnorm(10, 100, sqrt{400)) )
[1] &0 95 92 B0 67 106 104 88 103 107
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= round{ rnorm(10, 100, sqrt(400)) )

[1] &0 95 92 B8O &7 106 104 8B 103 107
= |
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RT, Bfi9&

= round{ rnorm(10, 100, sqrt(400) ) )

[1] 91 63 135 B89 80 134 139 106 94 84
= round({ rnorm(10, 100, sqrt(400) ) )

[1] 108 73 103 60 109 105 73 115 116 &6
= round{ rnorm(10, 100, sqrt(400) ) )

[1] 104 118 79 100 109 124 71 136 114 &5
> round({ rnorm(10, 100, sqrt(400) ) )

[1] &8 117 70 121 89 86 54 115 144 99

round( rnorm(10, 100, sqrt(400) ) )
round( rnorm(10, 100, sqgrt(400) ) )
round( rnorm(10, 100, sgrt(400) ) )
round( rnorm(10, 100, sgrt(400) ) )

DENS, TIEER K-

iR te vl

= round{ rnorm(20, 100, sqrt(400) ) )
[1] 79 101 134 91 9§ 117 144 108 89 98 78§ 113 111 112 81 76
_ 115
- [18] 88 124 B1
= round{ rnorm(30, 100, sqrt(400) ) )
L [1] 100 108 96 134 97 106 119 109 70 70 106 84 88 89 127 100
71
“ [18] 76 92 77 81 66 114 127 93 83 86 108 &7 79
A=

round( rnorm(20, 100, sqrt(400) ) )

round( rnorm(30, 100, sqrt(400) )) 15



ST —SDEENT (EXNISL) 4.

}[f] g9 128 103 110 108 115 101 115 72 79 B ‘ ‘ ‘ H “ ’
library(dplyr)

library(ggplot2) NI NLFT=FD ]
d <- round( rnorm(10, 100, sqrt(400) ) ) AR (EXNISA)

ggplot(data_frame(d), aes(x = d)) +
geom_histogram(binwidth=1) +
theme _bw()
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BRT—SDIEENT (ERANITL) -

iR te vl

= d
[1] 107 95 124 134 98 &7 78 107 148 107 88 111 120 &8 106 136 89
[18] 133 80 90 B84 B2 99 124 84 104 B8 118 97 150 101 94 120 104
[35] &7 100 100 82 131 112 131 111 91 106 110 124 134 77 85 105 74 ¥
[52] 82 71 84 87 96 136 119 107 94 108 141 64 101 82 90 120 91 E
[69] 84 106 110 96 &1 103 98 110 110 126 &8 136 120 69 102 118 104 °
[86] 112 105 148 107 110 99 90 124 112 121 86 117 116 117 101

' ' ' '
L11] 100 T 0

library(dplyr) RO NVF—HD
library(ggplot2) $EE DM (EXANTSA)
d <- round( rnorm(100, 100, sqrt(400) ) )

ggplot(data_frame(d), aes(x = d)) +
geom_ histogram(binwidth=1) +
theme_bw()
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